== A
N & o & AF & H Al A
20198 & =0l & L BHSI A X0 &t
A XSohg
HE: S0{ENL(LUNBTHT/LHHT)
SR S0 &N (29l 8)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
PR B=gn 12,823,648 19,084,635 A6,260,987
= 1,538,927
s 5,915,743
< 201,343
s 5,167,635
SHENL (LS SHE/YBHHT) 104,620 25,760 78,860
SHENY 104,620 25,760 78,860
MAIIEE sHEAEL 20,160 20,160 0
201 Let24d] 18,000 18,000 0
02 =224l 18,000 18,000 0
OMEAS AMEES S523
300,000 x50 A x128 18,000
301 L2 A F 2,160 2,160 0
09 HALAHIEA S 2,160 2,160 0
OLBsaHENEAMY LS
60,0003 *6H 6 £ 2,160
XS (HRFZAHI) 3,600 5,600 A 2,000
203 R =&l 3,600 5,600 A 2,000
04 EAN2IHR2FEHI 3,600 3,600 0
ORNM2ZYR F&HI(202!0/5t)
300,000& = 12& 3,600
HAANE2E 2L 52,000 0 52,000
401 Al& I 28I 52,000 0 52,000
01 A& HI 52,000 0 52,000
OYaTHA SSZHIMY NEE R (=X
-] BN P =y 4,000,000& =44 16,000
OFY DI=te SEEZHAY AIE2 |X2a
4,000,000& *9H 36,000
MIES sHEHL(Q12HH]) 28,860 0 28,860
101 @124 dl 28,860 0 28,860
04 JIZHHZ2XNESE =+ 28,860 0 28,860
OLEtSLAHE HEAY & 2l I 2
2| 17,316
—OIHDl 1Al 100,000 *3H x 1301 A x4 15,600
—MIEEE 15,600,000& *11/100 1,716
OLBsoHE HEAY B3 22l E=HA
Il 11,544
— & ZHH AL
100,000 »2H » 130 A x4 10,400
—MIEBEZ 10,400,000& x11/100 1,144
SIHLASoOHE (sl dt/s5 - &) 56,700 54,240 2,460
= 18,900




S XNt
M SASOE (NS SM/EY - 5E)
Sl Seiol MoK CEEEED
L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 11,340
= 26,460
S0l HAMB 56,700 54,240 2,460
= 18,900
&< 11,340
= 26,460
HEOES MR X 37,800 25,440 12,360
= 18,900
= 5,670
= 13,230
307 2Iz2t0| & 37,800 25,440 12,360
= 18,900
== 5,670
= 13,230
02 QIZHA AAIE E X 37,800 25,440 12,360
OMENSAMREINK(ZESE20])
1,575,000 x1H ~12& 18,900
= 9,450
= 2,835
= 6,615
OMEDSAMPEIRA(YA ALA)
1,575,000 x1H ~12& 18,900
= 9,450
= 2,835
= 6,615
HEo2 290U NH X& 18,900 28,800 29,900
= 5,670
= 13,230
307 2Iz2to| A 18,900 28,800 A9,900
= 5,670
= 13,230
02 QIZFAAAIE E X 18,900 28,800 A 9,900
ONENE 2Y9UHUN N (sE02HA)
1,575,000& x1¥ ~12& 18,900
&< 5,670
= 13,230
NARELH(sHHL A/ sH - =) 5,709,569 9,609,795 N 3,900,226
= 3,477,000
= 2,232,569
S| BHAE Y| 5,709,569 9,609,795 N 3,900,226
g 3,477,000
= 2,232,569
HACUAZ S Y| (2L HA) 1,184,286 715,000 469,286
g 829,000
= 355,286
403 AIXSHME X201 N 1,184,286 715,000 469,286
hag 829,000
= 355,286

N




A XS0
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& =Yg (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 S 2SO0 HEAEE 2 E AL 1,184,286 715,000 469,286
ORAGS FHHL(FHAA)
1,184,286,000& 1,184,286
as 829,000
i 355,286
ANzZde2ds(XE) 100,000 0 100,000
s 70,000
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s 70,000
s 30,000
03 Al 2 THHI 100,000 0 100,000
OANZI2dsH(TT) 100,000, 000& 100,000
s 70,000
[ia 30,000
SANELS(DZH) 2,244,486 1,084,000 1,160,486
s 1,564,000
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403 MtXISHHE X201 E 2,244,486 1,084,000 1,160,486
s 1,564,000
e 680,486
02 SO 2SO0 HEHAHE X 2 &AL H 2,244,486 1,084,000 1,160,486
O2rEZH A 51,000,000% *20/100 10,200
OHATK SEMNL(D2H) 2,234,286,000& 2,234,286
z 1,564,000
[ia 670,286
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201 Lt 244,536 113,258 131,278
01 At 22l 133,880 50,630 83,250
OSYMLEx 3 D2l ¥ EHRY
100,000& = 12& 1,200
OSYMBE T¥ =2A SX L APEE 79
100,000& * 122 1,200
O2HaEx S22 MM s MHES
= 100,000& = 12& 1,200
OSYMLEE 2 222 002 2Y
2,700,000 »2CH 5,400
O2THEx 3 HMEA HA8F 7Y
500,000& »12& 6,000
OSuNEX 28 HMED 2483 2 (&7
L ANHSE S) 6,000,000& 6,000
O2THEX 3 ME2 FAMS AINNE +
2 450,000& »4 4! 1,800
O28dEx 23 Mgz 20 ¢ 10,200
—4a= 1,400, 000& =64 8,400
—d= 1,800, 0002 14 1,800
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2N
X ZH -
L= B

el

sg ol EH|

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OXY4os XA (99.37%)
568,397,000 568,397
Fag 282,000
= 286,397
03 AlE 21| 3,603 5,556 AN 1,953
OXY94o=s XA (0.63%) 3,603,000 3,603
O0l0tS SSHEAY 762,857 286,000 476,857
Ry 384,000
= 378,857
401 Al HI L £ 0HHI 762,857 286,000 476,857
g 384,000
= 378,857
01 Al& B 758,310 283,941 474,369
QUSH? =8 (0d01)(99.64%)
758,310,000 758,310
Fag 384,000
= 374,310
03 A& 2 0HH] 4,547 2,059 2,488
QUISH? =g (0d01)(0.36%)
4,547,000 4,547
0SS ESHE(2F) 177,140 0 177,140
g 124,000
= 53,140
403 XX SRS K20 & 177,140 0 177,140
g 124,000
= 53,140
02 2I2SO e A=2EAEAS Y 177,140 0 177,140
QltSH? Estig(2g) 177,140,000 177,140
Fag 124,000
= 53,140
HAC HAEIMNL(HO0I) 320,000 0 320,000
g 224,000
= 96,000
401 Al HI L 204 HI 320,000 0 320,000
g 224,000
= 96,000
01 Al&H| 317,696 0 317,696
QAL HE I (4101)(99.28%)
317,696,000 317,696
g 224,000
= 93,696
03 Al 201 Y| 2,304 0 2,304
QAL HEIML(2101)(0.72%)
2,304,000 2,304
NEg FLUSESXNLE X222 7,460 0 7,460
201 et 9| 7,460 0 7,460




A XS0
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M NAREUM(SEHLSM/5Y - 5E)

Sl sl (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
02 3524l 7,460 0 7,460
O&IIMNERZ 250,000& = 12& 3,000
O AE= 50,000& =12& 600
OAE 2R X 22| 2,000,000 2,000
OFISS=XME il
1,550 2002 Efx6 = & 1,860
28 Agx22 XA (elAHl) 88,804 0 88,804
101 2121 4| 88,804 0 88,804
04 JIZtHI22XNSE S 88,804 0 88,804
O2gaExsd S22 J2H=22 X o
Palls] 28,334
—-Jl2=2 66,8003 x1H *318 21,243
— =54 66,800& *1H x53F 3,541
— A3 EE 21,242,400 *12/100 2,550
— &2 500,000& x 1 x23| 1,000
OLLEHEH 22| oAb 16,862
—-J|I23 66,800& x212 «1H 14,162
— AMIEE 14,161,600 x12/100 1,700
— &2 500,000& 23| x1H 1,000
o=sgadxzzI 22 WFIl oAl 8,978
— Ol d] 66,8003 *4H x33| 10 8,016
— AMIES 8,016,000 x12/100 962
O2gdadx2a &xHIH oA 30, 141
— ol d]| 66,800& 120 »3H 24,048
- F54 66,800& * 163 *3H 3,207
—AMIEES 24,048,000 «12/100 2,886
O2aeadx22 HE o2 M 12| 4,489
— Ol d| 66,800& 2 *30 4,008
— M3 EE 4,008,000& *12/100 481
A F=AAH LY 2,000 0 2,000
203 92 X Y| 2,000 0 2,000
03 A =X R = XIH| 2,000 0 2,000
ONBF=AHR F=&AH| 2,000,000& 2,000
NHUC AL (BELR SN /KA LS Al 4,835,207 6,778,349 A 1,943,142
rag 2,438,743
= 2,396,464
T A2 AHE 1,831,444 2,414,694 A 583,250
SCAHE &2 ME 1,814,600 2,397,850 N 583,250
201 et A | 14,600 14,600 0
01 At 22l ] 14,600 14,600 0
OZHERAS 29 100,000& *123] 1,200
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SH: RSN D
HE: NAUYCANL(RELNANL/NHLEAI)

Chelr S AI22IHE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZAHE(HA) 20s 4,000,000& 13 4,000
OSANHEE2 NEEZ L SI0/H 242
940,000& x 103l 9,400
401 A& HIZ 201 8] 1,800,000 2,383,250 A 583,250
01 A& HI 1,790,640 2,368,850 A 578,210
OZAMNAEEZ HESM(ZLI~Lo=sTR)
397,120,000& 397,120
OZAMHEEZZ HEZA(F 233~ )
397,120,000& 397,120
OZAMNAHEEZ HESM(AETSHEL-SFTY
ct) 496,400,000 496,400
Oz ZelHs HEH 89 380,000,000 380,000
OEANHEETZ RAESH 50,000, 000& 50,000
OZAHEZZ HEZS A EHEL(AEC ZAl
HEER) 30,000, 000& 30,000
OEAMMY mEAY 523 L AEHEAN
a8 9 40,000,000& 40,000
03 A& S THHI 9,360 14,400 25,040
OZAMAEEZ HESM(ZLI~osTR)
2,880,000& 2,880
OZAMHEEZZ HEZA(F 233~ )
2,880,000& 2,880
OZAMNAEEZZ HESM(AETSHEL-SFTY
) 3,600,000& 3,600
TAISA e 16,844 16,844 0
201 Let24] 16,844 16,844 0
02 =224l 16,844 16,844 0
OZ0I2&d HMIIMNEZ 658,000& 128 7,896
OZEOIZSE =EAMEE 329,000& 128 3,948
OENSH A& |X22ldl 500,000& =108 5,000
ZZAIE 565,020 803,655 A 238,635
SdNs 2l (AHH) 565,020 803,655 A 238,635
201 Let24E] 21,200 11,200 10,000
01 At 2t 2l 21,200 11,200 10,000
OSHAANN 20 B 1,000,000 *200H A 20,000
OZ&Hoeds 29 100,000& *123] 1,200
401 Al HIZ 201 I 543,820 771,340 A 227,520
01 A& HI 540,000 760,000 A 220,000
O HAITH &2 &X
10,000,000& «2H £~ 20,000
OBFS It R IIAFE (3200 &) 320,000, 000& 320,000
OLEFHIML(IEE A2 2)
2,500,000 *400H 2 100,000
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HEPNR:W/ B= g

Bu: AU ANL(SELTEIHL /N HLEA)
Helr BAAE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXEZ JZANAHE = 100,000, 000 100,000
03 Al S HHI 3,820 11,340 27,520
OOtES IR I ALY 2,020,000 2,020
OZtEtEHIALY 100,000,0002 *0.9/100 900
ONE2 ABUNHE 28
100,000,000 *0.9/100 900
ENEEXF 500,000 3,310,000 22,810,000
ras 500,000
SEXNEEXF 500,000 3,310,000 A 2,810,000
s 500,000
401 A& HIZ 201 I 500,000 3,310,000 A 2,810,000
s 500,000
01 A& HI 496,400 3,298,363 22,801,963
OF X X 7 AHS (99.28%) 496,400,000 496,400
s 496,400
03 Al S HHI 3,600 11,637 A 8,037
OFXE X A (0.72%) 3,600,000& 3,600
as 3,600
KIS IH & A =l 1,938,743 250,000 1,688,743
s 1,938,743
HEg MUEZ HEAMS 1,938,743 250,000 1,688,743
s 1,938,743
401 Al HI R 201 I 1,938,743 250,000 1,688,743
s 1,938,743
01 A& HI 1,928,843 250,000 1,678,843
O3 ALg LT A AL (99.64%)
1,928,843,000& 1,928,843
s 1,928,843
03 AlE 2 THHI 9,900 0 9,900
O3 ALg ANLET2 A AL (0.36%)
9,900,000& 9,900
s 9,900
HEJ XN (B ELXNGML/XNSL A 8,000 11,000 A 3,000
A IZAG 8,000 11,000 A 3,000
SAIZA Ol Y 8,000 11,000 A 3,000
201 2et24d] 8,000 11,000 A 3,000
01 At 22| 8,000 11,000 A3,000
OFAZAL e W= 3,600
— W2t 8,000& 300 2,400
—ZA=Z 600,000& »23| 1,200
OMLEASEDNS AIRE2EFY
200,000& =122 2,400




A XS0
FH: A4)=N3(

SRl RABAY CERED

W
HM
He
P
]9
=
n
=
19
He
|
=

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

500,000& x4 H 2,000

>
b
Jn
Ol
0z
i
ro
0
P}
0
=
tol
I
P}
~
)
b
0z
i
Ho
0

,935,033 1,492,379 442,654
1,520,027
190,003
225,003

Mo A

>
k>
Jn
Ol
N
Ph
0z
L
HL
02

,935,033 1,492,379 442,654
1,520,027
190,003
225,003

MR

FHs0 1,100,033 707,379 392,654

880,027
110,003
110,003

HH A

301 LEE N F 1,100,033 707,379 392,654
880,027
110,003
110,003

HH A

01 A28 X +dl= 1,100,033 707,379 392,654
ogx=no 1,100,033,000& 1,100,033

880,027
110,003
110,003

M A

F=H=X 835,000 785,000 50,000
640,000

80,000
115,000

MW

402 212t Xt=01& 35,000 35,000 0

Sl 35,000 35,000 0

3,500,000 *1020t = 35,000

403 A EHHS =0l A 800,000 750,000 50,000

640,000
80,000
80,000

HH W

= S5 EAFS HI 800,000 750,000 50,000
OF8 3 XS0 800,000,000 800,000
640,000

80,000
80,000

HH A

02
0
H0
02
0
=
=
12
=
[
[
u
m
~
9
o

174,519 170,732 3,787

ol 2| 62,499 60,392 2,107

el 2l 62,499 60,392 2,107

101 1Al 62,499 60,392 2,107

01 2= 62,499 60,392 2,107




A XSohg
FM: HE2IZH (X GHL D) (I1EH/IIE
Sl ol ) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OX I AR 2R 62,499
— etz 62,499
6= 11,4013 «6H «30Al 2t 128 24,627
= 10,2993 x5 «30A| 2t 128 18,539
- 82 9,2463 4 »30A| 2t+ 128 13,315
- 92 8,357&3 x2FH «30Al 2tx 128 6,018
Jl2&dl 112,020 110,340 1,680
Jl23 8 (XIS H) 29,280 28,080 1,200
201 et 28,140 26,940 1,200
01 At 22l 28,140 26,940 1,200
OXYgn 4= 29| 28,140
—Z=SAM gz 600,000& »2CH =12 14,400
—AIRA FxD| 2z 120,000& =128 1,440
—SAMSX 7Y 25,0003 x23H+0.6+12& 4,140
— XYL HRFA ARES 72E
10,0003 x23H 123 2,760
~ XL B TRlH E4TY U &2
gl 250,000 *3H x4 3 3,000
— XGHL) ARI1D] =2l S MUl E
200,000& »12& 2,400
202 O4dl 1,140 1,140 0
01 = LH o4 1l 1,140 1,140 0
Odldlel Bt =H SAL 4|
20,0003 x19H 3 1,140
Jl2dul(Xgngey) 27,420 27,420 0
201 €24l 4,560 4,560 0
01 At 22l 4,560 4,560 0
OXSIHL FRF=E =Hl 8,000 «6H 60 2,880
OYEFL ARES 28 20,000 +7H~122 1,680
202 04l 22,860 22,860 0
01 = LH 4 Hi 22,860 22,860 0
OXSIHE RF=& 2LHHHI
20,0003 x6H 92 «12& 12,960
OXNSIHE SRFE 220l
110,000 x6H »3L 53 9,900
JI2Z8H(OI&sXgEd) 9,060 9,060 0
201 2et24d] 1,440 1,440 0
01 At 2teltl 1,440 1,440 0
OJIs=Xd gR=& S&H 8,000& 2«60 960
OYRFT MRES 72 20,0002 +2F 128 480
202 044l 7,620 7,620 0




A XS0
M HHE2H A (XLHL D) (IIEHIIE)

ch: JI24dd| (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 2LHOI ] 7,620 7,620 0
OJleXd 928 2L HI
20,000 x2H x92 x12& 4,320
OJleXd 928 22|
110,000& »2H 3 52 3,300
2 (FTHEHEH) 18,600 22,650 A4 ,050
201 fBt24Ay| 3,360 3,600 A 240
01 AtR 22| 3,360 3,600 £240
OFAHEE =48 2 Hl 8,000 x4 x60L 1,920
OgRFN AREE 7Y 20,000 »6H x12& 1,440
202 044l 15,240 19,050 N 3,810
01 2ol 15,240 19,050 £3,810
OFAHEH SR8 22 H]
20,0003 x4H x99 x12& 8,640
OFAHEH SR8 2021 H|
110,000 »4H 32 x5 6,600
J2HH| (S Al A EE) 9,300 9,300 0
201 et 1,680 1,680 0
01 AP 2t 2] H| 1,680 1,680 0
OEAMM SRF=X ZEFH| 8,000 »2H 60 960
OgE2FN AIRE2E Y 20,000& 3% x12& 720
202 04d| 7,620 7,620 0
01 2Ll 7,620 7,620 0
OEAMAM RF=E 20U O B
20,000 2H 9 x 128 4,320
OEAMAM RFE 202 ¢ H]
110,000 »2H 3 x5 3,300
Jl2A3Y (FAMLE) 13,830 13,830 0
201 LBt Y| 2,400 2,400 0
01 AP 22| d| 2,400 2,400 0
Od&MA HR2=X ZFH| 8,000 *3H 60! 1,440
OgRFN AREE 7Y 20,0008 x4H «12& 960
202 04| 11,430 11,430 0
01 2L HI 11,430 11,430 0
OdEMAE FR2=& 2L HI
20,0003 »3¥ 9 x 128 6,480
OBMH A2ET 2A204Y]
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